SECOND YEAR HIGHER SECONDARY
SECOND TERMINAL EXAMINATION, DECEMBER-2024

Part-1lI Time : 2% Hours
SOCIOLOGY Cool-off time : 15 Minutes

Maximum : 80 scores

\

General Instructions 1o Condidates :
® There is a *Cool-off ume’ of 13 minutes in addition ta the writing time.
® LUse the 'Cool-off time” to get familiar with questions and to plan your answers.
® Read questions carefully before answering.

® Read the instructions carefully.
® Calculations, figures and graphs should be shown in the answer sheet itself,

@ Malayalam version of the questions is also provided.
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1 - 10. Answer any 9 questlans. Ench carrles | score. (@x1=9

1. Identify the sociologist who introduced the concept of sociclogical imagination.
(A)  Karl Marx (B) Alfred Gell
(C) C. Wnghi Mills (D) E.B. Tylor

2. Which of the following is not o characteristic of community identity 7
(A) Based on birth and belonging, (B) Emotionally altached
(C) Achieved (Y Universal

3.  The feawres of industrial society are .

l. Urbanisation

2. Lack of face-lo-face relationship

3. Division of labour

4.  Main occupation is agriculture

Choose correct answer from the oplion given below

(1) 1,2,4only (2} 1,2, 3only
(3) 2,3,4o0nly (4) 1,3, 4only

4.  Ou of the following which stale is not based on language 7
(A) Kamataka (B) Maharashtra
(C) Jharkhand (D) Tamil Nadu

5. 73" Constinwional Amendment is related to
(A) Panchayat Raj Instilutions {(B) Land reforms
(C) Resevaiion of Scheduled Caste (D) Reservalion of Scheduled Tribe

6.  The scientist who opined that “use of machinery actually deskills workers™.
(A) Karl Marx (B) Harry Braverman
(C) Max Weber (D) M.N. Srinivas
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7.  Choose the term associated with ‘Structural Change'.
(A) Sanskntisation (B} Westernisation

(C) Urbanisation (D) Modemisation

B.  The establishment of rule by one counlry over another iscalled ____ -

(A) Capitalism (B) Colonialism

(C) Nationalism (D) Communalism

9.  The reason for feminisation of agricullural labour force is _____

(A) Migraiion of men (B} Modernisation

(C) Westernisalion (D) Sanskritisation

10. Statement A : Caste system in India is a form of social stratification based on birth.

Siatement B : In the caste sysiem social mobility 1s easy and common.

Seleet the correct option from the choice given below :
(A) Both A and B are true, and B is the correct explanation of A,

(B) Both A and B are true, but B is not the correct explanation of A.

(C) A istruc, but B is false
(D) A is false, bul B is true

11 — 15. Answer all questions. Each carries I scores. (5x2=10)

11. List out the features of Dominan! ¢asle.

12. Writc the imponance of Nyaya Panchayal.

13. What is meant by flexi time ?
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19.  Amange the following items inlo apprapriate columns |
(Mode of livelihood, Language, Degree of assimilalion 10 Hindu society, Physical-

racial)

Tribal communities

Permanent Traits Acquired Trails

15.  Complete the chan :

Land Reforms in Independent [ndia

, l ,,

wiree  Abolition of Tenancy System ...

Answer any 3 questiens fram 16 to 19. Each carries 4 scores. B3xd4=12)

16. Differentiate between Organised sector and Unorganised sector,

17. (a) Explain the term of de-industrialisation. 2

(b) Name two urban centres of India that were declined during British

industrialisation. )

18.  Analyse the transformations in rural society afier independence,

19. (a) Explain the concept of social justice. (2

(b) Describe the role of political parties in democracy, (2)

SY-238 6



20-23. Answer any 3 questlons. Each carrles 5 scores. {3#5=15)

20. (a) Explain the features of civil socicty.

(b} Evaluaie the relevance of civil sociely organisations today.

21. (a) Explain commoditisation with suitable examples,

(b) Virtual Market

32, Industrialisation and Urbanisation are linked processes. Substantiate your views.

23, Match the following :

A B
Brahmo S5ama) First school for women
-Ia.hamn Shah Nawas 1914
Jyotiba Phule Indu Prakash
Vidya Sagar Opposed Sati
All India Muslim Ladies Conference | Debated against polygamy and purdah system

24-27. Answer any 3 questlons. Each carrles 6 scores. (3x6=18)

24, Preparc a note on regionalism and communalism as the challenges of cullural diversity.

25.  Describe the social consequences of green revolution.
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26. (a) Evaluate the problems faced by the workers in Indian indusiries and mincs. (4)

(b) Suggest remedial measures, (1)

27.  Analyse the changes of traditional caste system.
28-30. Answer any 2 questions. Each carries B scores. (Zx8=16)
28. (a) Explain westemnisation. (2)
(6)

(b) Write a critical essay on Sanskritisation.

29. Examine the structure of Panchayat Raj System, powers and responsibilities of

panchayats.

30. Explain the following demographic theories :
(a) Malthusian theory of population growth

(b) The theory of demographic transition
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